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QUESTION 1

While working on the configuration of your client, you uncover that the ASNs will always have the correct serial number
information interfaced upfront and your client trusts the ASN information. Your client also needs the serial number
information to get into WMS Cloud when the items are received from POs. Which three actions do you need to take,
assuming that item A is serial-tracked? (Choose three.) 

A. Set item A\\'s require serial number parameter to "Required, validate and allow user override". 

B. Create the IB Container barcode type. 

C. Create the Serial Number barcode type. 

D. Set the company parameter SERIAL_NUMBER_TRACKING_LEVEL TO 2. 

E. Set item A\\'s require serial number parameter to "Required, don\\'t Validate". 

Correct Answer: ABD 

 

QUESTION 2

Which three interface validations cause the Advance Shipment Notifications (ASN) to fail when uploading to WMS
Cloud? (Choose three.) 

A. A Purchase Order that is referenced on the ASN doesn\\'t exist in WMS Cloud. 

B. ASN Qty and Purchase Qty do not match in WMS Cloud. 

C. ASN data is past the shipping date. 

D. Purchase Detail line and ASN Detail line do not match in WMS Cloud. 

E. ASN file has invalid data format. 

Correct Answer: BDE 

 

QUESTION 3

You are performing the Split IB LPNs RF transaction and seeing an error message: Shipment Verification 

status mismatch. 

Which three are valid? (Choose three.) 

A. The from-IBLPN and the to-IBLPN might be received against two different ASNs respectively. 

B. This error message will disappear if the RF screen parameter required-validations is set up as No Validation. 

C. This error message will disappear if the RF screen parameter split-uom is left bank. 

D. If the to-IBLPN is received via the Recv Shipment RF transaction, the from-IBLPN might be from the Create RF
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transaction. 

E. The from-IBLPN and the to-IBLPN might be received against the same ASN. 

Correct Answer: BCE 

 

 

QUESTION 4

Identify two correct statements about the type of receiving supported by Oracle WMS Cloud. (Choose two.) 

A. Oracle WMS Cloud does not allow assigning multiple ASNs to a load. 

B. Receive by ASN (RF-Text: Recv LPN Shipment) allows receiving multiple ASNs. 

C. If the trailer contains multiple ASNs, IB Loads can be used to consolidate then into a single record. 

D. Receive by load (RF-Text: Recv LPN Load) allows receiving multiple ASNs. 

Correct Answer: BC 

 

 

QUESTION 5

Your customer wants to receive an IB shipment and capture pallet weight at the time of receiving. Which parameter
must be set in the Receiving RF screen to meet this requirement? 

A. Set Capture-catch-weight as "Prompt for catch wt". 

B. Set Mode as Blind-ASN Receiving. 

C. Set rch-sku-not-on-shmnt to "Promt for catch wt". 

D. Set Single-Sku-management as Assume Single SKU. 

E. Set Blind-License Plate Number-receive-mode as by SKU scan. 

Correct Answer: B 

Reference: https://docs.oracle.com/cloud/owm70/owmcs_gs-cloud/OWMRN/OWMRN.pdf 
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